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1 Beam in equilibrium

A 10kg beam with length 2.0m can pivot about its left

end, A rope is attached as illustrated. The thickness of
the beam is negligible.

a) State the conditions for equilibrium.,
b) Draw all the force vectors on the beam.

¢) Identify a pivot point (there are many correct pos-
sibilities — one is much more useful than the others)

and determine expressions for the torque exerted by
each force about the pivot.

d) Substitute the individual torques into one of the conditions for equilibrium and deter-
mine the tension in the rope,
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